EXAM 1

Math 212, 2021 Fall, Clark Bray.

	Student ID:
${f S}$	
ASONING T	O RECEIVE CREDIT.
n effect on th	is exam.
5	
of diagrams, he from the p	but the final sketch must be paper.
	page the question is written d on the two blank pages at
D STATEN	MENT
n completing	this examination."
	ASONING To a effect on the second of diagrams, the from the period back of the over page, and the over page, and the over page of the over page.

- 1. (20 pts) In this question we consider the points $\vec{p} = (1, 3, 2)$, $\vec{q} = (2, 1, 0)$, $\vec{r} = (1, 1, 1)$.
 - (a) Find the vector represented by the arrow whose tail is at \vec{r} , and whose head is at the midpoint of the line segment connecting \vec{p} and \vec{q} .

$$\overrightarrow{M} = \frac{1}{2} (\overrightarrow{p} + \overrightarrow{q}) = \frac{1}{2} \begin{pmatrix} 1+2\\3+1\\2+0 \end{pmatrix} = \begin{pmatrix} 3/2\\4/2\\2/2 \end{pmatrix} = \begin{pmatrix} 3/2\\2\\1 \end{pmatrix}$$

$$\overrightarrow{V} = \overrightarrow{M} - \overrightarrow{\Gamma} = \begin{pmatrix} 3/2 - 1 \\ 2 - 1 \\ 1 - 1 \end{pmatrix} = \begin{pmatrix} 1/2 \\ 1 \\ 0 \end{pmatrix}$$

(b) Compute the angle at \vec{r} between the two segments connecting it to \vec{p} and \vec{q} .

$$\vec{S}_{1} = \vec{p} - \vec{r} = \begin{pmatrix} 0 \\ 2 \\ 1 \end{pmatrix}$$

$$\vec{S}_{2} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{4} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{5} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{5} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{2} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{1} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{2} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{2} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{3} = \vec{q} - \vec{r} = \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$$

$$\vec{S}_{4} = \vec{q} - \vec{q} - \vec{q} + \vec{q} - \vec{q} - \vec{q} + \vec{q} - \vec{q}$$

(c) Compute the area of the parallelogram whose edge vectors are \vec{p} and \vec{q} .

$$\vec{p} \times \vec{q} = \det \begin{pmatrix} \vec{e}_1 \ \vec{e}_2 \ \vec{e}_3 \\ 1 \ 3 \ 2 \\ 2 \ 1 \ 0 \end{pmatrix} = (-2, 4, -5)$$

$$\text{area} = \|\vec{p} \times \vec{q}\| = \sqrt{(-2)^2 + 4^2 + (-5)^2} = \sqrt{45}$$

(d) Make explicit use of some of your work from (c) to find the volume of the parallelepiped whose edge vectors are \vec{p} , \vec{q} , and \vec{r} .

Volume =
$$\left| \frac{1}{2} \left(\frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{2} \right) \right| = \left| \frac{1}{2} \cdot \left(\frac{1}{2} \times \frac{1}{$$

2. (20 pts) The parametric curve $\vec{x}(t) = (\sin t - \cos t + 2t, \sin t + 3\cos t, \sin t - 3\cos t - 3t)$ is entirely contained in a plane P. As a result, the velocity and acceleration vectors at every point on the curve must both be parallel to P. Use this fact to find the equation for the plane P.

$$\overrightarrow{V} = \overrightarrow{X}' = (\cos t + \sin t + 2, \cos t - 3\sin t, \cos t + 3\sin t - 3)$$

$$\overrightarrow{A} = \overrightarrow{V}' = (-\sin t + \cos t, -\sin t - 3\cos t, -\sin t + 3\cos t)$$

$$\Rightarrow \overrightarrow{V}(o) = (3,1,-2) \qquad \overrightarrow{A}(o) = (1,-3,3)$$

These are both $|| to P so their cross product is <math>\bot to P$. $\vec{n} = \vec{v}(o) \times \vec{\alpha}(o) = det \begin{pmatrix} \vec{e}_1 \ \vec{e}_2 \ \vec{e}_3 \end{pmatrix} = \begin{pmatrix} -3 & -11 & -10 \end{pmatrix}$

Using
$$\overrightarrow{x}(0) = (-1,3,-3)$$
 as \overrightarrow{x} in the plane, the equation is $\overrightarrow{n} \cdot \overrightarrow{x} = \overrightarrow{n} \cdot \overrightarrow{x}_0$

$$-3x-11y-10z=0$$

- 3. (20 pts) The surface S with equation $x^2 + (3(y-2))^2 z^2 + 1 = 0$ is the result of transforming the surface H with equation $x^2 + y^2 z^2 + 1 = 0$ as follows:
 - (1) first, a translation by some amount (positive or negative) in the direction of one of the coordinate axes;
 - (2) then, a stretch by some positive factor (greater or less than 1) in the direction of one of the coordinate axes.
 - (a) What are the amount (positive or negative) and the coordinate axis referred to in (1)?

$$H: \times^{2} + y^{2} - z^{2} + 1 = 0 \xrightarrow{\sqrt{y^{*}} \mapsto \sqrt{y} - 6} \times^{2} + (y - 6)^{2} - z^{2} + 1 = 0$$

This is a translation by +6 in the Y-direction.

(b) What are the factor (greater or less than 1) and the coordinate axis referred to in (2)?

$$x^{2}+(y-6)^{2}-z^{2}+1=0$$
 $x^{2}+(y-6)^{2}-z^{2}+1=0$ This is a stretch by a factor of $\frac{1}{3}$ in the Y-direction.

(c) Do either (or both) of S and \dot{H} have any rotational symmetry? If so, identify the corresponding axes of symmetry and explain what indicates the symmetry.

S does not. H loss, around the z-axis, because \times and y appear only as part of " $\chi^2 + \gamma^2$ ".

(d) Is S best viewed as a graph of some function or as a level set of some function? Explain.

Scannot be viewed as a graph of any function! It can be viewed as a level set, for example as the g=0 level set of $g:\mathbb{R}^3 \to \mathbb{R}^1$ defined by $q(x,y,z) = x^2 + (34-6)^2 - z^2 + 1$

- 4. (20 pts) We know the following information about the graph z = f(x, y) of the function $f: \mathbb{R}^2 \to \mathbb{R}^1$:
 - (a) it goes through the point $\vec{p} = (1, 2, 3)$; \Rightarrow f(1,2) = 3
 - (a) It goes through the point $\vec{p} = (1, 2, 3)$; $\Rightarrow +(1)^2 = (1, 2)^2 = (1,$

Find the linear approximation of
$$f(1.06, 2.07)$$
.

choose
$$\vec{a} = (1,2)$$
, $d\vec{x} = (106, 107)$
 $\vec{x} = \vec{0} + d\vec{x} = (1,06,2,07)$.

$$\begin{aligned}
Af &= \nabla f(\vec{a}) \cdot d\vec{x} \\
&= \begin{pmatrix} \partial_{x} (\vec{a}) \\ \partial_{x} (\vec{a}) \\ \partial_{y} (\vec{a}) \end{pmatrix} \cdot d\vec{x} \\
&= \begin{pmatrix} 5 \\ 4 \end{pmatrix} \cdot \begin{pmatrix} .06 \\ .07 \end{pmatrix} \\
&= .58
\end{aligned}$$

$$f(\vec{x}) = f(\vec{a}) + Qf$$

= 3+.58 = 3.58

5. (20 pts) Suppose that (x,y)=f(z,w) is differentiable, and we know specifically that when (z,w)=(1,2) we have $\frac{\partial x}{\partial w}=1, \frac{\partial y}{\partial z}=2, \frac{\partial y}{\partial w}=3, \frac{\partial x}{\partial z}=4$. If a particle \vec{p} is at (z,w)=(1,2) and moving with velocity (5,6), what is the velocity of its image $f(\vec{p})$?

$$\frac{\partial \vec{p}}{\partial t} = \begin{pmatrix} 5 \\ 6 \end{pmatrix} \qquad \int_{f} = \begin{pmatrix} \frac{3}{3} & \frac{3}{3} \\ \frac{3}{3} & \frac{3}{3} \end{pmatrix} = \begin{pmatrix} 4 & 1 \\ 2 & 3 \end{pmatrix}$$

 J_f relates input velocities to output velocities, so $\frac{df}{dt} = J_f \frac{d\vec{p}}{dt}$

$$= \begin{pmatrix} 4 & 1 \\ 2 & 3 \end{pmatrix} \begin{pmatrix} 5 \\ 6 \end{pmatrix} = \begin{pmatrix} 26 \\ 28 \end{pmatrix}$$

$$AH: \frac{2}{W} + \frac{1}{W} + \frac{1}{W} = 6$$

$$\frac{dx}{dt} = \frac{dx}{dz} \frac{dz}{dz} + \frac{dx}{dw} \frac{dw}{dt} = (4)(5) + (1)(6) = 26$$

$$\frac{dy}{dt} = \frac{dy}{dz} \frac{dz}{dz} + \frac{dy}{dw} \frac{dw}{dt} = (2)(5) + (3)(6) = 28$$

$$\frac{df}{dt} = \left(\frac{dx}{dt}, \frac{dy}{dt}\right) = \left(26, 28\right).$$